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FACULTY OF SOCIAL SCIENCES
B.A. (First Semester) EXAMINATION
OCTOBER/NOVEMBER, 2017
ECONOMICS
Papoer 1

(Micro Economies)

(MCQ+Theory)
(Tuesday, 21-11-2017) Time : 10.00 a.m. to 12.00 noon
Time—2 Hours Maximum Marks—40
N.B. .— ()  Attempt All questions, §
(1) All questions carry equal marks,
(itr)  Wrong answer carry negative marks for MCQs.
() ¥ 79 Hrean
@) W W R e,
W SEEEl g gEen Tw s T 3.
MCQ 10
1; (1) In which year 'Wealth of Nation' was written by Adam Smith ............_..
(A 1676 (B) 1776
(C) 1876 (D) 1976
Aen oy =i ‘Tl quRt w g e o T fafewm.
(A) 1676 (B) 1776
(C) 1876 (D) 1976
(i) Which of the following assumption is not a law of demand ?
(A)  Consumers income is constant
(B)  Consumers interest is constant
(C)  Substitute goods price are constant
(D)  Giffen goods

P.T.0.
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FACULTY OF SOCIAL SCIENCES
B.A. (First Year) (First Somester) EXAMINATION
OCTOBER/NOVEMBER, 2018
ECONOMICS
(Micro Economics-I)
(MCQ + Theory)

(Saturday, ﬁ]-ZUIE'_] Time : 10.00 a.m. to 12.00 noon
Time—2 Hours Maximum Marks—40

N.B. — () Attempt all questions.
(i) » All questions carry equal marks.

(7)) Wrong anawers will carry negative marks.
() T e Az,
G S T .
(if) - e IO e 0 .
Y MCQ 10
1. (1) - Robbins ims gtated the .. definition of economics.
(A) . Scarcity-oriented
(B) ~Wealth-oriented
(C) = Welfare-oriented
(D) None of the qb&ve-

() gftfen e
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(2)

(3)

(4)

(5)

2 ) A—326—2018

Till the end of the 18th century Ecnomics was a part of ....................
(A)  Sociology ({ E‘}‘ Paychology
(C)  Political Science (D} Computer Science
18 S0 TRHITET U coevreerernnnn, o9 TH YT GEen W S,
(A)  HIYIER (B) - WU
(€) TR @) | I
By the ................... analysis method the whole economy is studied.
(A)  Micro ! (B) Maero | _
fC)  Micro and Macro (D Al of these
" v waden weRaR Wyl anfma?am I HET L.
(A) g {B} SEE
© FgEaT™EWH. . @ 'qpq—,;ﬁ =

Demand curve is the relntmnshlp nt' t.wn factors :
(A) Stack & Demand A

(B)  Supply & Demand

(C) Cunsmnptmn & Demand '

- (D} Price & Demand

Wﬂﬁ%ﬂ@ﬁiﬂﬁmﬁﬂ
(A), ¥= 9 | - :

(B) Y@= 9 wFwil
) -9 3 R
M) feaa 3 npEf
nfmnismg'uﬁi't;af- consumption is the ... utility.
(A)  Total (B)  Average
(C) Mgrgins'!_-' : (D)  Positive
(A) T IqEfe (B) Wt switfir

(C)  Tooia sy D  9TF TR



(3) 0 A-326-2018
(6) Which goods have inelastic demand ? - .
(A)  Comfort (B)  Necessary
(C) Substitute (D) -Lu‘it}lries ;
&) gEHH (B) * ewas
(C) warh S ['Dj. e *-. e
(7) The equilibrium of mdlffer&nng curve: shc.Wsl., = ] 1 Jas
(A) Marginal uhht}r e O
(B) Highest mnmlmptm " By « g
(C) Lowest sahsfactmn ks L o 3
(D) nghest 3atlsfact:|.un _. i -, i ‘
(A) - fawia v ’j;Ei] ‘TEEI"? I
“(© :ﬁwm @ e g
8 thh of the follumug fat:turs LEJ"-EIIE the elasticity of demand ?
i L-A.}' Hature nf gouds
(B) Substitute goods:
S (@) Multiuses goods.:
5 ~:..-.(D}. Allﬂfthgabp‘?e:E
SREN m:.:r,a‘ @
L © - g v

*_"'tm e wd .



( 4 )

(9)  Consumer equilibrium means .

A—326—2018

: de’
(A) Get maximum satisfaction from the selected pundle of goo

W ¥ El
(B) Get minimum gatisfaction from the selected bundle of good

(C) Get average satisfaction from all hundle of goods
D) No satisfaction from the selected ‘bundle of goods'

TR EEE W
(&) ﬁmﬂwwwwm
(B) meﬁaﬂ

(©) Wﬂwmmﬁm

O frasden a) SIERE gouR e &
(10) In the law of supply

(A) Demand (B) Stock
(C) -Price lD} Pmducnun
b e B) @
: {G}" fama {D}m
Theory

Cﬂﬁﬁﬁ&"ﬁiﬁ law. of diminishing marginal utility.
ween fadia Twifmen Frawg fommm T FT
. s
i o (e
| Explain ’_c?m'iﬁmme 'eﬁ"ect;lijr the use of indifference curve
' What is Economics ? Explain the scope of economics

eﬁiﬂﬁﬁﬂiﬁm?aﬁm@mmm

................. factor is mdependent.

10

10



WT ( 5 )
Or

(fmam)

Explain the merits and demerits of micro-analysis.

gen faveraw Ugde O-AE WL S
4. Write short notes on (any two) :
(1) Consumer’s Surplus
( i1} Determinants of Demand
(/i) The types of Elasticity of Price
(Iv) Law of Supply. i
e few fam (Fwo@E TH)
9 Fusilaeara dorerued
0 I 1 B TG e
(iip Toma wafasad THR
(jvy —gasar .
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(1)
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e law of demand ?
(B) Marshall
(D) Nurkse
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) Want satisfaction power of goods calleii :
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(A)  Utility % By

(4).
(A) Po lltlcal -

© G‘-‘ﬂﬁﬁiﬂmﬂl
AT

-

- ._:.‘E

o F"\."'

a
'a{"i_:..h o

&

k

ﬁ,‘ﬂ
f,"'"'t_."‘ ]

L

{"

(B) More
(D) Less and more
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(©) Production efféet!

(3}

(A) Demand

(©)  Price ) ttnpmlm%zm :
T SUREAR e gy amm ﬁ-m o
&) W 1)

) fom _ '
Price effect = Income eﬁ'ect Q:I :

(A) Substituton &E'act

'\rf‘..

., o5 e

(C) I ufitonw

ST e
Sm}:{-"_

(©) .aiﬁ[:qf;gféﬁaﬁﬁ

.hdh"»

S Glad S
75 hm{@“ ﬁ;{"\:-_{:*‘ (B) 1846
S S
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FACULTY O HUMANITINYS
B.A. (First Year) (IMest Sementor) EXAMINATION
MAY/JUNE, 2029
BECONOMIOS
(Micro-Beonomies1)
(Tuesday, 7-6-2022) Time ¢ 10,00 i o 12890 pan,
Time— 2V% Hours : Maxtmum Myl

NB. :— () Attempl alf questions,
(i) All questions cm‘r'j.:' equal marks.
G) W gy dea
() WA WO WA 0 31RA.
1; State Rubbinﬁ’ def‘ﬁmtimrﬁ[‘ Ecﬁnqmim. Explain the nature of Keonomics,
; : 10
ofa= tn?ﬁ aqaimwa‘i STE | mfwrm‘% TR TR FA.
SO
\ PPN (a0
Expiam the- mcthﬂd of prive Lla‘;mut}’ n‘nLHEUI'UI‘-"-‘HL
2. Statothe determinants of fsuppl:r 3
P PSR YA S ; ﬂor
RO SS (ﬁ;ﬂ'ﬂ

3 3 w - 3
) e s “,

10

“Wh atjiéxiﬁﬂvi"ffereﬁée curve ? Bxplain the consumer’s equilibrium with the help

& “;-ﬂf lnd:ﬂiszmncb curve.
m’a?ﬂﬁatgmﬁaim ? mﬁmmwﬂwﬁwmw
What 15 Bemand ?State t he law of demand.
rHiI'Jﬂ i%'ﬂlé‘ En"l'ﬂ? tEFT'Tﬁ"uI'r foem @i, _ —

10



WT ( 2 ) RB—16—2022

(fera)
Explain the price and substitution effects with the help of Indifference curve.

e Ao Ewe fRea @ vt SR we

4. Explain the Law of Diminishing Marginal Utility. 10
Or
(fenam)
State the scope and significance of Economics.
RS ] | Ree fave w0
D. Write short notes on any fuan : 10

() Micro Analysis Method

(i/)  Determinants of Demunnd

(iir)  Cross Elastaty

(lv)  Ordinal utility approach.
W] ST grat drgaa 2 e .
() gew favaom wga

(i) =R futaa Feem gew

(i) forew eat=Ea

(jv) EgEl TG m
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FACULTY OF SOCIAL SCIENCES

B.A. (First Semester) EXAMINATION .
OCTOBER/NOVEMBER, 2017
ECONOMICS
Paper II

(Co-operation : Theory and Pracmce)

(MCQ+Theory)

(Thursday, 23-11-2017) Time : 10.00 a.m. fo 12.00 noon

Time—2 Hours

5 Maxmum Marks—40

N.B. — (i) Attempt All questions. _
(i) All questions carry equal marks. =
() WS FA dEan.
(if) 'er% e HEE O A
: . MCQS :
1.  Choose, 4:'he can‘ﬂ.'t answer : 10
4 m ﬁ'arzi
W) o _ is the father of co-operation.
_- -(Aﬁ. 'Adam Smithe (B) Robert Owen
: {C} Dr; Pigou (D) Dr. Marshall
..... — @ TewE W e;n%
S(A); den fma (B) e WA *
'-'"f(di:-”-zf g @ = A
(u'} The mam purpose of co-operation is ......oceuen
; w(?k} Semce (B) Money
€ Profit. @) Loss
TR S
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(£d1)

(fv)

()

( 2 ) B—323—2017

TR wil
(A) &= (B) U |
© @) )
First Co-operative Act in India passed in the year i........ceuwn. p 2
(A)  Act of 1904 (B)  Act of 1912

(C) Actof 1919 . - (D). Act of 1925

(A) 1904 = . (B) 1912 W W@

© 1eWEFR .. (D) 1925 TR

Who was the\chalrman nf~ all” Indxa Credit Rural Survey

Sommittee 7 f_-'; “~ ~ ;i

4) VL.Méhata & © " (8  C.D. Deshmukh

(C) AD, Garwa.la « .. @ VM. Dandekar

i ﬂm—'l'q reon qagaar Wﬂﬁ *\crﬁqﬁl% HAH HU B ?

@ T @) @ g

© T ﬁhaﬁn _: O TR

What typé nf finance is pr:mded b]r District Central Co-operative
Bank 95 i ok -

@) Short;-tenn L ENT @) Mediveterm D
© Longterm. @) (A) and (B) axe correct
" ﬁmmﬁmm@mmmwm ?
) .fﬁ) S T (B) T A
( & e D) (A) § (B) =
Sta.be Cu-upe‘rahve Bani_-: in:called as .uiiwiiin
) Regionial Bank - (B) Apex Bank
_(C} Lead Bank (D) NABARD

o : -&A"‘;:.:E e
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(vit)

(i)

(ix)

( 3) B—323—2017

@ R dF @ e s

© e d% ) T

In which state first Dairy Cn—uperatwe Society estabhshed ?
{A) Maharashtra i : {',B} Gujrat

(C) Rajasthan CD) Kamatak

qfgell TUTEH W& ﬁw w w FOarE e 2

(A) TS Sl m} TR

Lol ; "=-'.tﬁ:_i'- Flew

X I it

Find out the odd option': ¢

(A) Marketing society >\ L%
(B) Cunsumers Co-aperatwe Sumety
(G Dlst:rmt Central Cn nperahve Bank
Do) .Sugar Co-operat:we Eaﬁtnrg
fﬂ'FFIﬁ R ‘fﬁm e ;_:f
® wew el e Cio
(C) ﬁﬁa umaa‘haﬁlfr ﬁ%ﬁ |
Whmh are the main pnnmples of co-operation 7
(A} _Vuluntary and -open membership

(B) ?iDemocmtm mnt:rnl

(©) Limited interest of capital

{D} ﬁ]lof ‘the above

oy ._\..}-' ::' .

P.T.O.
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4.  Write short notes on (any two) : : : 10

@)  Principles of Co-operation

@  Co-operation and capitalism

() Urban Co-operative Bank ° - |

(w)  Consumers Co-operative Sn:iéf_v. *

dewm foq fam (Fodt €9) - .' :

O SR ey

(@) WEFR T WiSTawmEr -

(iif) Wmﬁﬁ’ay
(fv) TEF WESHR TE.



This question paper contains 4 printed pages)
A—381—2018
FACULTY OF SOCIAL SCIENCES
B.A. (First Year) (First Semester) EXAMINATION
OCTOBER'NOVEMBER, 2018

ECONOMICS
Paper 11
{Co-operation)
(MCQ+Theory)
{Tuesday, 30-10-2018) _ ‘Time : 10.00 a.m. to 12.00 noon
Time—Two Hours : B Maximum Marks—40
N8 — (0 Attempt A/ questions.
() Al questions carry equal marks.
(n ud wva daa
(/) TE I R T SR
MCQ
8 Choose the correct answer : : i3 | 10
I I fAEE . ; 1
|4 7 IR . . is the father of co-operation.
(A) - Dr. Pigou . _ ' (B) Dr. Robinsoen
(C)  Dr. Marshall (D) Robert Owen
(A) = R {B) I U9
(C) -3 uAnfa . (DY UK A&EA

(€71 R % s is not the principle of co-operation.
(A) Open membership
(B) Democratic control
(C) Profit
(D) Members Economic Participation

................ ¥ TR @S T
A IR (B) wme Friy
aweRier anfdw wENrT

)y Tw o (D)
P.T.O.

ODS6FISDISBEATSBSSCI0105ATI33F5B
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(D In capitalism profit goes to ...
(AY Capitalist (B} Government
(C}  Farmers (D) None of these
(A} WISEERR (B) ®ER
(C) TG (D) WS A
(%) Maharashtra State New Co-operative Act was passed in the year ...
(A} 2012 iBy 2010
(Cy 2013 (DY 2011
TETE T FAH WEER R ey e FHG OO AEL
A} 2012 (BY 2010
{C) 2013 DY 2011
(9 Dr. AD. Gorwala was the chairman of ETRTRE AR

iA)  National Development Board

tB)  All India Rural Credit Survey Committee
(C)  Co-operative Administration Committee

(D) Co-operative Purchase and Sales Committee
o . RER B e ¥ oarew 9.

(A) TR e iE==

(B) HEE WRHE WY TaqEs Seel SiE

(C) TEEN WrER Wi

(D) wewrl Eel-fam st

(/1)  Second Co-operative Act was passed in ................ year,
(A) 1912 (B) 1913
(C) 2013 (D) None of these
(A) 1912 o (B) 1918
(C) 2013 (D)  Is TR

(v11)  Identify the correct pair :
(A) Urban Co-operative Bank—National
(B) Primary Credit Co-operative Society—Village
(C) State Co-operative Bank —District
(D)  District Central Co-operative Bank—State

OD36FISDISBEATSBSSCI0105ATYIIFSE
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(A) ST TR ST
(B) qrefiys m m@g
(C) = TEF am—iacnl
D) oo weEd Teell 99—
(v The society which provides the houses for its members at reasonable
rates is :
{A) National Co-operative Organisation
(B) Private housing society
(C) Co-operative housing society
(D) None of the above e
Qe A T R A QM W
(A) TEE WEeR ¥ e
(B) TS TEFEi wE :
(C)  TEerd T S
(D) de TR e Pl
7 R, the function of Dairy _Gi;-npexhi:ive Society-

(A) Collection of milk - (B) . Supply of milk on demand
(C) Reasonable rate of milk (D)  All of these

.................. ; . % m ?ﬂ #ﬁa mﬁ a-[%

(A) gﬁrﬁﬁﬂ‘ﬁ'ﬁl S . (B) WIUIEER ¥ TS

(C) gﬁiﬂﬁvﬂﬁﬁﬁﬁfﬁﬁ (D) AT AT
vrisesees. isfare the merit(s) of co-operative movement.
(A) Provides loans at low rate

(B) Reasonsble price for agricultural products

(©) Publicity of democratic education

(D}  All of the above

SN - > geF S T .

(A)  FETE F9 T (B) V™ Ad WA
() drEwE fagoE TER (D) At

(x)

P.T.O.
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Theory
What is co-operation ? Explain the scope of co-operation. 10
PR TS T ) WEERel = w5,
Or

(fam)
Explain the features of Co-operation- Act, 1912,
1912 =1 WeFR TN ey gim
Explain the functions of Gn—operatlm Bank. 10
TR WEEH dRE w1 e wq. -

Or.

(feham
Discuss the achievements of Cn—npemh?e Movement in India.
URANTH WedhI TSasien qens 'ﬁif w4,
Write short notes on (any fwo) : '
¥/ Ca—nperatmn and Euclaham ,
n Al Indm Rural Credit Surgm;r Cnmm.lttee
(117 Cu—-qperatwe Dairy Sacmtgy ¢
(iv) 1"'rr.mzlr:..r Credit’ thpmtwe_ﬁnmety
diema fenr fom (o @) 0 0
() = FEHR U FHEER -
() - HET WA T YagEa Wﬂ it
(d) - WEPRl gY w4
U9 -m e ﬂaawar W

10



s &l
Swaml Ramanand Teerth Marathwada University, Nahded

: * Faculty of Humanities = e
B. A. First Year (Sem.-I) Examination j_ 2 4y
Winter- 2020 LEA
Economics h\:ﬂ

Paper No. -I1
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Date-

Time -

Time -01 Hours
N.B. (i) Attempt all questions.

(ii) All questions carry equal Marks. et
(iii) Use OMR Answer Sheet.

Maximum Marks-40

1. ETeTerihT FITeT SAEETITET GHTE NTAHE SETHey id ATal?
A. arft B. T8I C. i SLID. T=a AT

A, 97eB. w=C. =D, afmddt At

4. arefrerireEt e SrEETITET AT B e g
A w=SrrEB. AfC. AFD. FrEE T TR

5. ST T W Har?

A. B, FuAfasTC. e D. =T

6. e Tty Awar?

A. SaTB, FHC. argD. FTLH

A_1960-61B.1965-66C.1969-70D.1 972-73

i ?
8. Wﬁmﬁmmﬁm arereff AT et
A.1960B.1961C.1962D.1965

il
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. G

A. TR AR Al T2 )

B. srexrHier siewiwis Al sgar iy

C. WeaTa Srwei Nefiaor gyor gy

D. FTFHEIAT 9T 777 FI0Y

10. g widft worsy ey

A. %ﬁi‘#ﬁﬁ#‘:ﬁﬂ At eI Sy AT T

C. ATH=AT=T TRV T F=erD). i‘ﬁrrﬂ?mﬂm'rrﬁﬂrrfrﬁn?
11. 9t g7 sy ey T AT AR ? :
A. FITTIB. FEC. AT 33D, amgg

12. W 3% T A2

A. TSI Ruiter wfgei=t gey sy

B. =X g9 wigwiter Tt gor denr

CRT g ===t g
- D. T ESIT b8 areryey

13. @refterd=ht Hrord fFram g am?
A,WWW%E.WWW@H%
C. JETAET=AT srdfeaereda qaftr &ram=m arey w=ifds o

D. wgrrgTs srdfeyereqr &f et srfererear o

14. @refterd=t Hivra f@gT al=< ag?

A. WETTET=AT SIS &IT 9T 9ed ag

B. WETIETSAT SAFEEYT qAT A1a A

C. FETPT=AT Sehee=T v R s

D. ARTTET=AT A EA AT ST wew ey

15. wreherdeht o Rrem wer e

A. TETTgTehter Frtor Zrfeqrsr s e angy

»



B. werrgrdi wnfter atfiterm sy Ared oy

C. werrgre arw af e Ry T
D. wgwergrefter ameftor o srgdy Sierm wwr g6 e
16. =retterdsht e e ght= amg?

A TrSATSAT THOT ST Seft S=T=T 91T Hed g

B. TATSAT TR ITAATT STRTET AT 9184 g
cmwaﬂmﬁmmmmmﬁ

D. T4 TR STTATR Gt TN ST {=T SATAT 12T FH Sy
17. FETrgTT srfera et arefier S dfRrsr AR Tew AR ?

A.mma.m?ﬁﬂwc.ﬁm%ﬁmmmﬂm?@%
ERb

18. W=t oy Ay frer ATet?

A. FHB, FILEC. S0, Fht

19. Tt o FrarT aax s

A. TRTTETE STAT=TY 8 storay: wee o i
B. wETag Swit=aT 87 fRaw ang

C. ARTIETT F =T & qTaq oy

>

4
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U, wevear widy vedtr yrdor T 2T FreaT

L , = = @
SRR T WA 1 e e 2 T
0. alier iy arsh

23. werrrEey Ao g 20132 FTATTLATET A2 7?

A I 2013 7 31 a1§2018B.1 o 2013 7 31 9 2020
C.1 wide 2012 7 31 m=:2015D1wﬁrr=|2013?r31m2015

24, 2001 S SRR 77 e e R e - EF A ?
A.922B.929C.925D 927
?Smewﬁmﬁ@w

A. T8, dgrare, 597D, et
2admﬁaﬁaﬁaﬁmﬁﬁmaﬁwm‘g?
A.memm—rﬁwﬁwmﬁm

B. SR WIS U AT Sq=FraTr S SrerS s

C. STPHET TUSH U 1Y <RI ST arersrS sy
D_WWa@mﬁmﬁWWm

2?.@@@?&%%&%%@@#@?
A. B==ft s

B. S g9

C. ATS=«T=HT FHaCET

D. &1t T

28. A= T e AT At S wEer ferve oy

A. =T SEmaEEB. affer semeFarc. S swwD. afeidr o
29, Ty 99Ty ArEr

A. FETITETN FIHaeaT 9 g

&

i
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D. Wmﬁ?ﬁéwwmm%
E?ﬁﬂﬂﬂ?ﬁé‘rwa@ﬁ N .
AT, 9B, v ddmc =t FTHATED. 7T seft

A. TTTATB. SEMTATZC, TeRRIAD, sremT
32.ﬁ?ﬁw%ﬂﬁﬁmﬁwwwmﬁ?
A.W#WB.W.%D.WW '

33. A=ft=am Feft SeTaeY wror |h?

A. == Srfta sramaB. ara e deseET AT

C. TETAH @araT afdr are= F07D, Wiz srfdT arTe

34, e A=t iR Frre?

A. AT srafearar=fi ares frsfor wrB, ermrr=ar Heft Rt wor
C. T giEgi=T femmD. ahaih aF

35. mﬁﬁﬁﬂﬁﬂﬂrﬁ?@nmaﬂﬁm%ﬁ?ﬁﬁm%

- A TZAIE ATEB. 7Y AT e C. AR aveD. e Fmeft

36. refterd i Frwr Frar a2 arg?

A. BT i e A firs Seme aresr

B. gfter e wry frta Sreriar Rroray

Cgﬁ?rmﬁamwaﬂmwamﬁamwﬂm

D. Fh=dfr 71y

3?.@'Wﬂ‘ﬂ'ﬂﬁﬁ?rwl?r'ﬂﬁﬁﬁwa|%?

A. JTTE UeftB. atedt FremiEe. FHT |TEAT TXD. Ther 7

33.wﬁ%ﬁmmﬁﬂwm&......@u?

A, #Tﬁi-@ﬁma. T 32C. Feg=eD. Friear smyor

SQ.W'waﬁ’wﬁﬁmwmﬁmﬁ%mﬁﬁw:
-’ Te-T



A TETE ST%G i) 720,

B aRfTr i) 3,07,713< fmft

C FIFT T T iii) 33 =

D e srem= TH{I iv) 2500 & 3500 .
qipais:

A/ B) C) D)
a) v @) G0
S () WO RN () S ()
o Gy @ 0. W)
RO RO I O I ()

40. 7= ‘o T ‘T TefeT ST @ ST AGF Heha i (st

Me-"aT -9’
A. T T IATEA i) ST
B. erat {4 ii) "l ft-ferori=T A
C. o= fiwar : iii) SeaTEEET
' D. g widt ) iv) Y ST

A) B C D
a) (iii) (i) (iv) (ii)
b) (ii) (iv) (i) (i)
o (v @iy @ 0
d Gy O D)
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RB—32-—2022 l
FACULTY OF HUMANITIES' ' +s S8 Sk s
B-A. (First Semester) EXAMINATION =~~~ =« RN
MAYIUNE, 2022 &S Sl S i S8 S
ECONOMICS -+« . NGRS LIRS

(Economy of "«Iﬂhm%htlauil .
Chursday, 9-6-2022)

Tmm lﬁ Oﬂ a;m. to 13 .:‘i{} p m.‘“
ime— 2% Hours

Afmrmg:m M&’: E‘sv-—

B = (i) Attempi alf questions. - SRS ~“‘~
@}  All questions earry ‘equal marks: - o o s ‘. R “

() W& WA A T e _
Write the generai charm,tensmfs of economy of ’hlnh wﬂhtm
' Or
(fam)
What are the causes of low productivity of agricuiture in Mah

HRRISITAIE YA s 309 SeGeas! X0 HIve 7
~ Discuss the problems of small scale industries in Maharashtra.

10
meﬂmﬁﬁm >
{m

~* What are the factors aﬁ'ﬁchng to:Green Revolution in Maharashira ?

- ARSI &{td hiie Saleer TS0 92a S0y 2 |
- Explain the demographic features of Maharashtra. 10
: 3 S Or
(Fesiam)
Explam the "New Iudustrm! Policy of Maharashtra-2013".
“HERTET AT St 9Re-2013 1 T .

10

arashirn ?

P.T.O.
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4.

L

( 2.) 0 RB—32-9099

State the role of agrmulture in economy of Mahar ashtm Lo F A a Y
e S SR s R

What is Poverty ? Explain the causes ﬂfpnvm"w\xm Mﬂh&fa*ﬁ}tm. RS 5

W %Eiéi CALE Wm ?ﬁf{ﬁ[ W?ﬁ{]‘ ._}_..;\.::?:'_-. :'~\i 3 x: :

e e A . e N
e &, ot '\._, Q e Tl T Ll B
3 %

Write short notes on any fwo ; S8 &SI S STA S Sy
: % v O - S ‘

r \:-*\\,:' m; o j,\\ \: \\\.3 .\.\\\-‘“\ ! A N 20 LR Ki'\
sl s S o BT ONT B et T T B i oy
1;] Lﬂemp;ﬂ}r]nent n I\Iallata\shﬁ&a s -\\"}.\ \%\L \.‘:\ _.\::\ u;'l:\“\__:j\\'\\}\ . _\" x - b W \:\' _‘.:: :
-L.‘{ % .\- Ql‘. '.\\". -“ o -'\.'"\. i \:: .\1\3 a2, ..-\\jl‘ el "F X
@ Li S XEANAU A o "\.:_a- »\\ PG @i o o
Ry Ak Mﬂhﬁmﬂhﬂzﬁ SR TR
il ~ \ A g A “.\ _>\ o
(i)  Agrobased Ind ust:r} m I‘ﬁahnraﬂhhmf '\: TR SN B
A XTI T @ R b

‘) Importance of hduﬂtﬂe&“ & \ \H\ SR

ﬂi’fs—ﬂﬁﬁmm (ﬁmaﬁq}
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S5—255—2018
FACULTY OF SOCIAL SCIENCES
B.A. (First Year) (Second Semester) E\AMINA-":Q""

MARCH/APRIL, 2018 '\"{.

(CBCS Pattern)
ECONOMICS
Paper II1
(Micro-Economics)

(MCQ & Theory)

(Thursday, 05-04-2018) Time : 10.00 a.m. to 12.00 noon

Trme—2 Hours Maximum Marks—40
N.EB. — (0 Attempt Al questions.

(N All questions carry equal marks.
(p w4 Wyl €z
(i WE WA EEHE O M.

MCQ
1. Multiple Choice Questions (7 — x) : 10
|EIAE W (- X
(1 Production function shows as :
) x=a b cd by x=(a b ¢ d
(© x=Fa b 6d ..) (@ x=Wa, b o
SR weR qaE v weifaaa o
(a) x=a b acd W x=(a b cad
(o x=Fa b ¢ d ...) (df x=Fa, b o

P.T.0.
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(£ Which of the following 18 the correct equation of total Revenue ?
(2) Total Revenue = Price x Total selled goods
(&  Total Revenue = Price + Total selled goods .
(@@  Total Revenue = Price — Total selled goods
(d) Total Revenue = Price + Total goods
TETUHR THU WKR 9y wiieo s 2
(@) THW WiE = ffma x T faween w8
(b wiE = fEEa - g faween aw
(0 wpw Wi = fogm - wpu faweem aw
(d) UHv Wi = foa + wgo o
() cciieieeviennnan 18 related to monopoly.
(&)  Product Discrimination (b)  Price Discrimination

(&  Supply Discrimination (@) Demand Discrimination

(@ w9 % (p) fobwm 9 .
(0 TYEI R (d Wit 9
(v} Law of returns to scale exists in ... period.
(a)  Very short ()  Short
(66  Long (d)  None of these
S WA BN T oo, HiB S Fa. .
(8) =maswyg : b I
5 @ Ry (@) it
e + is the characteristic of perfect titi
= seumg = competition.

6)  Unlimited consumers

(@ Product differentiation
(d)  Price differentiation



()

(1)

(v

: ~N
(a) "o ig
Tﬂ REVﬁnuE - ‘ha cq,?&'f 'Eq-u&tl s\"' 55
(5) T = Py x o0 op to Ay
otal Ry, Totg I Re
{ eﬂuE E P]-] Beued v"'-'m]@';l
c) T“tal Repe Ce 4 Tﬂt&l S Soody
(d) Tﬂtal ke Pn{:e = Tﬁta] % s
. RevenuE = Pl‘lce = &d Etodg .
Eefrerteg T ymy o Togy goodg
(&) ki % oy
S Wy e ?
b
O T = oy _ T Ry 1
............................ iﬂ related tﬂ mﬂﬂﬂ 1
{a:j Pl" . e = pﬂy‘
Oduct Dmmmmatmn B Price Bz .
(e) Eupply Discrimg,. ... iminaty
mcnmatmn (d) Demapgq Dism‘imjnatm
@ =g ® o g M
© g 4 G
Law of Teturns , Scale exjgtq in Period,
(a) Very sho () Short
(d) Long (@) None of these .
(8 ey B
............................. is the characteristic of perfect competition.
f.ﬂ} SEHIIIE cost

Unlimited consumers
Product differentiation
Price differentiation



WT S—2565—2018

(b I RS
(© =GR (@ TR

(370 The remuneration of production factor is equal to :
(a)  Total production ()  Average production
() Marginal production (d)  All of these
(&) T A (b)) T SRS
(@ fowm seee () et wd
(va1)

In which book Keynes has introduced the liquidity preference theory
of Interest ?

(d)  The theory of Employment
() The general theory of Interest

tcd  The theory of Money

(d) The General theory of Employment Interest and Money

A FOR T S UEw g6 fagia wieen ?

(a) T Tuordi aifw wamife

() & ore fuerdt oifw s=tw

(0 T fusrlt sifw wi

() f& v fusrll aifs wemni= fetw ot wH)
(vizr)  Marginal cost means :

(a)  Totnl cost of production

(b)  Average cost of production
(o)

(d)

Change in production due to change in one unit of production

Change in total cost due to change in one unit of production

P.T.0.
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s we R
@ SE Aoy wepn sl
B ST g s ws .,
(@ U WeWRE WE R WY SORAE B wee
()  UH IORT WEERIE e Hod Wpv wwl R s

(x)  In which competition seller is price maker ?
(#)  Perfect competition ()  Monopoly
(&) Monopolistic competition  (d)  Oligopoly
Hoe W e W el o
(2 o =yt (b)) HRRR
(© WKt gFd wuf (d) STeqHieR
(x) Which of the following statements is correct ?
(a)  Profit is always positive
(b)  Profit is always zero
(60 Profit can positive or negative @
(d) Profit is always negative
areiciist S fquE SR e ?
(@ % W e e swRh
(B) T B T Y e
(@ FH @ &7 fFar v oy wat @
(@ T ® Yot wm e .
. Theory
Explain the law of variable proportion with diagram. 10
ST FHE Few sgeieE e w61
(fepam)

Explain the different concept of production cost.
A wEren fafqy eewn ww w5,
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(8) S--265-—2018
Explain the charactenistics of Monopaly, 10
RS 3N o
r
(Rea

Whst is perfect competition 9 Explain how does the price determination in
perfect competition,

s TR T P W W e we PR 3 3w w
Write short notes on (any fwo) ¢ 10
) Modern theory of Rent

U Collective Bargaining

() Lonsble Fund theory of Interest

7} Uncertainty theory of profit. -

Tewm T e (S D) .

() S s fegs

@)  REE SR

G = S Y g

M TR shfeew v,
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A—295—2018
FACULTY OF SOCIAL SCIENCES
B.A. (First Year) (Second Semester) EXAMINATION
OCTOBER/NOVEMBER, 2018
(CBCS Pattern)
ECONOMICS
Paper III
(Micro-Economics)
(MCQ & Theory)
Time : 10.00 a.m, to 12.00 noon

(Friday, 26-10-2018)

Time—2 Hours Maximum Marks—d40

NB. :— (1) Attempt Al questions.

(1) All questions carry equal markas.
() TE weq Hrzan

() W T wEE O e

MCQ
1. Choose the correct answer - 10
Ereeipifh r i
(D According to Marshall, The creation of exchange value of utility
meana,....‘,......... aun
(a8) Consumption (8)  Produetion
(& Demand (d)  Supply
(a) o FONET (b) I
B UL () g
P.T.O.

DCES4AFIIETAE] AOF4DEFI1E2 IF46CBA
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(;d  The class sification of market mainly depends on

(&) Competition (5  Product
(@ Place (dd  All of these
R T WS WS SMNRIER e

(@ TEEEER (b)  SEIER
(@ TR (@) TS wE

(i) Which of the following is zot the type of price discﬁm:iiiatinn ?

(@ Personal price discri:rﬁnatim_;

(&  Place price d;cuunmzmun Ea
(¢  Advertisement price d:smmmab.un
(@) Time prme d;:scnnunatmn
TR v TER r{ﬁﬂ?{ﬁ? T 2
(8)  HEAMER TR

(B TR ‘@*ﬁ-’ﬁ

(@ TR R o $
() AR IR S

(i) Cﬂllechve Ha:rgmnmg is re.'lated T YO
(8 Rent _ - (b Wage
(0 TInterest o (@) Profit
(@ "E (B
(¢ - == . > (d) FHI

(#4  Money cost includes.....ss

(a) Direct cost ()  Indirect cost

[f=] Direct and indirect cost (d) None of these

DCE94AF9ETAEIACF4DSFOIE2 IF46CBA
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MR wmala o weda AW
(& wrm (W ey
(43 wrem ol e el G Wit ol

ivtd I perfecl competition., .t the price deternunant
) Baoller (M Conswmer
il Madvortisor (i Sellers and Consumers
el e Pilan s
) am W wIEw
(o mlsuant (PG o B AR T

i Lot the assmanption of the warginal productivity theary of
intribution,
A Porfeet competition W Monopoly

G Moanepolindie  competition (¢ Shortorun
st (i sengas gl ugla ank
o oyl sl el
o sl WD AR
v Which of the Rlliwing 12 aed the characterstic of monopaly 7
Lt Single production Orm
i Single good haa ditterent pries
(W Right af price detevmination to the seller
L Right of price determination to the consumer and zollor
vetedal WA o A md
W AR e
AR L I EG A T G L R i)
() Frwma sl fafenen st

Gt e PlRwdle wan o Bdonm s
1.0

PROEA LA LA I s
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(/x) In short-run increase in production......

ihiaalcost increases.”
Fixed -

(¢  Variable Ldj Margmal Wy

(a) Average (b)

ST SRUEATSA SR *@ﬁmw N N

(a) T ~rb}

3 {d:' fﬂrﬁﬂ _' L }..':5 xj. it

Which of the fullnmng statements 15 mng -;r i mrd e
(&)

(x)

R'Ent 15 related t-ﬂ' 1B.nd e I L L \ ,_\ e

(b)y Wage is related to labuur : At s i at
Q.i.,\ _:- .:: L _-.v : ‘\ b\
(9  Interest is ralated ta E&plt&l St en e

[mﬁ@d} Profit 4 nﬂt TElated t“ “Tgamser :
ot 7,0
(@) o T wEbEh S an%
(b ’ﬁﬁ F et gefem et &
"5* ""‘“ﬁ % ﬂ@'ﬂﬁﬁﬂ Wﬁﬂﬁ 3“% .

-'f_'dﬁ'f-___-_?crir @ -aﬁim i qra
' | Thenrjr

Wlmtlstha mmxhscrmunahm ‘?Stateﬂle various types of price discrimination. 10

T@%fﬁﬂﬁm? fﬁ-ﬁrﬂ% ﬁﬁwmm

S (e
Explmn the ﬂharactenstms of monopolistic competition.
na%mﬁ!fﬁ i A W w
Criticise thea-m-:f:ﬂmn theory of Rent.

10

DCEN-AF??ETPLEIAOF4DBF91E2 IF46CBA
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O :

(fram)
Explain the quuld_lty Preference theory uf Interegt, e
Write short notes on (any fwo) : .x':\".cf':i.:_-": . e £ X
(1) Short-run and long-run GDHt- “u;*ve'ﬂ ) \ :
(1)  Law of variable prﬂpumﬁn 3 S :. > S
(i)  Money and real cost. “\:_"'l::,“ “*\ it i \a N et

(v)  Average and margmhl mmm&- PR N

Eﬂmﬁ ﬁq'l 'r?‘lﬂ {.m an) ..... :_.E:;.E:- : ‘ _L .L-. y \\

()  SAEYREE 9 a‘iﬂm&ﬁﬁ tﬁa‘ aﬁ N N R
3 .,x_ ..: Ve W AR
(i)  EEET wmvnfar f‘—m N M GE

{2}}) ﬁfaa; a w Eﬂ \:ET:-.“.;...,. :\...E-‘ "'c‘_'\- ..-..,\-l‘\\:.
(1v) mﬂ anﬁlr ﬁmﬁ a?q:[ T R
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FACULTY OF HUMANITIES
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CBCS Pattern
ECONOMICS
(Miero -Economies-III)

(MCQ + Theory)
(Friday, 22-11-2019) Time : 10.00 a.m. to 12.00 noon
Meaximum Marks—40

Time— Two Hours

NB. :— (i) Attempt All r.:luest:iﬂns.
(i) All questions carry equal marks.
(@) W W¥T HiEa
(i) | T FWEE O SR
(MCQ)
1. Multiple Choice Questions (i-x) : 10
FEuaEt WA () ¢
()  The concept of Quasi Rent is introduced by :
(@) Robbins (b) Knight
(e} Keynes (d) Marshall
(@ & (b) 2
() F9 (d) ARl
(i) From the following 'selling cost' is the feature of :
(@) Perfect competition (b) Monopolystic competition
{c) Monopoly (d) All of these —

EDESADZDMQ?EDSBE?HECEHWEB&FI



WT

(iti)

(tv)

(v)

(vi)

( 2 ) B—329—2019

‘gl wd' ¥ weleisl s Wi e e 2

@ i =i (b) wERTgE vl
(¢)  WERRI (d) =il o
Schumpeter deemed profit as reward for :

(@) Uncertainty (b) Insurance

(¢) Hard Work (d) Innovation

(@  sAffy=aar (b) famr

€ W (d) TavEEA
Marginal productivity theory of distribution is introduced by :
(@ J.B Clark | (b) Knut Wicksell
(¢)  Marshall (d) Knight

@ WA T ) = e

(¢) WA (d) &<

Price is determined by........... under perfect competition.
(@) Demand (b) Supply

(e) Demand and supply (d} None of these
(@ =TT b) TEa

(€ HFTR F Y (@) A=

The classification of market mainly depends on..............
(@) Competition (&) Product

(c)  Place (d) All of these
ARIS =ity YrEar el YRR Re 9
(@ < wdER (b) TREER

()  TIFTIER d) =+ ud

6DESA020D4497605BETE46CBBY2886F]



wT

(v)

(vtir)

(ix)

(x)

( 3 ) H120- 9010

Collective bargaining is relatod with ;

(a) Land () Labouy

() Capital (ef) Organization
W Wil @ ey oo qaft .
@ s () g

©  YizTw (d) wur

Law of Return to Scale exists in.......... period

@  Very short b)  Short

(c) Long (@) None of those
ST TH WA g e T ST A,
(a) 3T ) 3y

© T (d) et g

In which competition seller is price maker ?
[_ti} ;Perf‘er‘:t competition (b) Monopoly
(r:]. Mﬂnapolist:ic'cumpetitiun () Oligopoly
FITA WA R @ e s

(@ - gof wguf (b) wFRER
()  THRRgT wul @) oreurfier

Liquidity Preference Theory of Intorest is introduced by :

(a) Marshs_!ll (b) Knight
()" J.M Keynes (@) Ricardo
E?J'Jx‘:nm ﬂ-@fﬂ‘ q?ﬁﬂ' mm ........................... -q-r:ﬁ m
(@  aOfe b)) "z

© S S (@) fenrsf

P.T.0.



W
( 4 )

B-—329—2019
(Theory)
2, lxplain the Law of Return to Scale.
SHET WA e fagia e e, !
Or
(feram)

What is perfeet, competition ?

Explain how is the price determined in perfect
competition.

of el g w=e ? i w9l feue s Gy i ¥ == o=

3. Explain the Liquidity Preference Theory of Interest. 10
-Dr
(FRam)
Explain the characteristics of monopoly.
weRIgrET JfYre=d =
4. Write short notes on (any fwo) : 10

(&) Selling cost

(fi)  Uncertainty Theory of Profit
(iii) Collective Bargaining

(iv) Modern Theory of Rent
drggae few fowr (Somd gF) t
(&) fasnt @+

Gi) Ao afagsracn fasm

Gii)  aTEifas TRt

(v) e ayf fagi.

B—328—2019 *
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]
. T
. Attempt all questions.

IIl. All questions are equal marks, 'r

(
Il. Use OMR Answer Sheet, TS :

C. 59e o d. Fafaedr
TET Y . ST WA @ gear der THT @H.........

a. dEedr b, gear C. SN Xt drear d. T gy

9T 9 T, mmﬁmm e JEER
CHE G ) o ) w%waahfr C. WA @afsh |:| murmhf’r



,_J--
l.."“
i :*‘_’.
B 2
{3
> .
> - -
Pk

TeiY

T

W

a, 309 v A b. atf o= Foa
c, 9Rom sl P d. aeEe gEreren S
S TR g e @E slae 3eaesr e s FEOTAT ?

a. ROt b, T Fcfeet ¢ FECH B d. vmor we

te a1 WUHI eI %ﬂeﬁraaﬂ?mi-’r

a. WY Tl b. awEar Feh . e s
$1 d. Teleh
a. THoT my

d. Tgor

I TFOT Ic9w=AT TRl SIS SNt 3R 9Sd e ...
L b, Wl @S o d@eie e d. wgoT Tashr

WA o SR AR A ., R ST
a. 3= fFRal b. H5e S rmar c. 9 3ar

LEREIELRSEami s = S \Aar?
a. #l T @ b. Wasr g% c. ¥ IF d. @HT am

d. Thg Faa

c.mru?rmfﬁ'rgﬁar d. S3ed<hr sy

9 Gl ot FelE AR ST HHR 6T 3EE?

a. I=ar b, B C. YA s 3Igw d. TS 3aK

YA 9O TR aew e arearae

a. U b. B c. IHET d. g1

to T, qoT wodff CEEAT GHES Hefered TR ... 3raa
a. MR=AR bEMR<AR e MR > AR d. AC=AR

Y¢ A Awaey Tl S ... TR SR
a. weer WIAF ¢ e d. S

R Ar. He T &= el Frar.



A

BLo

EACH

EEC]

o

o3

g -

aTgkbaie cfmie  J TR

A T Aeded ot AR domy e g
a TR b FoX ¢ FR@EEW 4. AN

R A TR TR G A7
a. AafiE FFaen b, FEGHR AT

c. FrATSE AFdery  d. fa Al
¥ A R ... TR A @ e A9 AR

o el b AR ¢ AEIgE wub d. (€ Tl
WA .o i IRIE Fa@r 94 A
a f &l b yg w9 o AR d AEdeE T

Y @l 3l T AR §A A 7
a fFafteR b @R c FUSR d. vEITsR

% 9 HETES FFHe9e NOH...... TE aar?
afisr b fewd c&w d 3 A

W TN, HEE T2 BEE . 3 3l 3iEan
a. 1t b. ekt c. IRfe d. =Ry

A T IR W B9 WUA ST SO Fwr?
a AW b 3 REE o Ry d e

% @, The Distribution of welth & @Y Foft Rfgar?

a @@ b W@E o ddFES d. R
3o @1, FWATSAT 74 VAol fRE..... qi+ AT

’ e s
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e

"R

EC]

LESH

PEC )

EC

T3

EECE

v ar. AW Bl........ T AT 327
a. §uest b AT . FSl d. sisaer

R Al HEIHB I E.......HCF IR?
a. @qeret b X c st d. gheddr A

33 ar. Wﬂﬁﬁﬂﬂmﬁamﬂ“ﬁw .
a. AW b g c % A d.ofRap oo o
3y ar, mmmmﬁwmﬁw
a. @F@er b, A ¢ AT d & =g

39 ar. =TT AT IeHN F@gia Bl Aizar?
a. faseis b. datel=T . AT d. TR

¥ A1 TaeReIer syf fela Aviear sk @y g >
a. 9ot ¥yt b. FeFgRT Tut c. F Tl d. yg wh
W a1 AT @I FqF 37

a. TRTVC b TRTC  c pAC d. afier ud

3¢ A1 SIS WAl fAgie vl wizar?

a @T b U ¢ aRE  d ¥ew

3 GI.  Enterprise and Productive Process BT @Y Frol RAfer?
a. WI. gfer b. aeRE ¢ =de d. fier

¥o @l. The General theory of employment Interest and money 8T T ol Agar
a. 7 kT b AR c @Y ey d. =iy
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W Attempt AN quostionn,

WA questions carey equal mapla,
@ weg Wan,

G W e i g anda,

Explain the Law of Roturng (o Sonlo, 10
IR Qi B wyne i,
O
(I8
What is Monepoly ? Doserthis tho ehenetorh os of'it,
Rk R At e ALl g a,
I

Explain the modem thoory of Wagses,

A anela @ e wig,
O

(TR

Describe the geoup oquilibeium in the Monaopolistic Compotition,

wadartR wliie wye wger v .

Explain the coneopt of Total, Average and Marginal vevonuo with dingram in
the pertoct compotition, 1

O wurldler wgor, wund § A g g stgillag wane Wi,
O



W ( 9 ) [HARE 1S
O
(Fpm)
What is the perfoet competition ? State (ho charactervistica o (it
of Tyuf wEoR W) R SR W
4. Eaplain the medern theory of Reut.
T ey TRE e R
s :
(R
Describe the Loanable Fllliﬁ.‘lﬁ‘"ﬂ}i}t]tﬁ‘ wf’ hminist,

Write short notes on any fieo of the following »

.tg'l

i} Opportunity Cost
@ Wage Lﬁtﬁ*wﬁtint on

(@i Selling Cost L B oy
) Profit i ¥
@eﬂﬂﬁaﬁmﬁﬂm :frm*ré’m m
PR o b s IO I RN
i s s S S
ain A e e
(1) '-W:‘I : \ .

e
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FACULTY OF SOCIAL SCIENCES S /"
B.A. (First Year) (Second Semester) EKAMINA‘]&E?N’ . ,r‘,
MARCH/APRIL, 2017 fac] T2
ECONOMICS 5. \ G
r Paper IV \ % '\ s
(Economy of Maharashtra) 1“*.":‘;, . O
(MCQ+Theory) oAl
(Thursday, 13-4-2017) Time : 10.00 a.m. to 12.00 noon
Time—2 Hours Maximum Marks—40
N.B. :(— (i) Attempt All questions.
(1) All questions carry equal marks.
(til)  Wrong answers of MCQs will carry negative marks.
(i) w9 9¥5 dr=an
(i) WE FEE WEE O e |
(i)  SETAE FTAS GES SROY HORTE [0 .
MCQ
1 Attempt the following multiple choice queél;inns 3 10
gelel GgyarE yvq 9=
(1) According to census of 2011 population of Maharashtra was ..........._.
(A) 9.96 crores (B) 10.23 crores
(C) 11.23 crore (D) 11.50 crores
2011 =1 SHIATER FERIE ARy e Bl
E (A)  9.96 =i (B) 10.23 =&
| £(C) 11.23 F& D) 11.50 F:H

(1) Urbanization means ..................
(A)  Centralization of population in the cities
(B) Decentralization of population in the cities

(C) Centralization of population in villages
(D)  Increase of density of population

e.T.0.

6BY021B9A 1 |ADDOECHS9DFD48EOCEI0R
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(iiz)

(1v)

2 ) A—326—2017
(B) YRS EEEA fagarFET AZH A7
©) weTm SEEwE i i
D) EEETE S 9w @ o
What is meant by Green Revolution ?
(A) Green coloured revolution
(B) Changes in agricultural production
(C) Changes in standard of living of farmers
(D) Increase in proportion of employment
| ®id TS w7
(A) Tewem TEl W

oB) I SERAR 9% el "5
(C) e 7 a B L e o S S

(D) S FEE wed 9%
Which of the following statements is correct ?
(A) Irrigated area in Maharashtra is partially decreasing
(B) Irrigated area in Maharashtra is decreasing
(C)  Irrigated area in Maharashtra is stable
(D) Irrigated area in Maharashtra is increasing.
TAETE SR fAYF W SR ?
(A) TRREHE wedeTe 8% S m: w6 SR
(B) TENIRWE Wareeae 8% WA 3%
(C) Wedie weaaTe &9 B S
~ D) RGOS SaeeTe 8% Sed I



-

5“

v 1 I'c"o]|
'] i

£ 1'_":"';"::"1 _
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A—326—2017 /;\*1_,__4?-5
FACULTY OF SOCIAL SCIENCES r ‘_ :
B.A. (First Year) (Sccond Semester) EXAMINAT ,,( ’ -.,
MARCH/APRIL, 2017 a *,; ~ .",1{"‘
ECONOMICS .;,f\ 3
'-_\ Poper IV \ :_ N
{Economy of Maharashtra) ":'3;-,' ;;,.,_,_, (‘_* u
(MCQ+Theory) N:_:L
(Thursday, 13-4-2017) I Time : 10.00 a.m. to 12.00 noon
Time—2 Hot

irs g .Mcr:n:_im um Marks—40

N.B. .— (i) Attempt All questions.
(i1) All questions carry equal marks.
(iif) Wrong answers nf MCQE will cany negﬂtwe 111&1'1{3
() wd W e TR |
(if) Hﬁmwmaﬂ%ﬂ
(fjf) ETEE WEAen g St ':EW ™ aﬂ%ﬁ
-MCQ - o
1. Attempt the following multiple choice questlﬂns v 10
el JgIaEt WA Higdn o : :
() According to census uf 2{}11 pnpulatmn of Maharashtra was .
" (A) 9.96 crores . - (B) 10.23 crores
.!.:C} 11.23 crore . _-"\ 3 (D) 11.50 crores
2011 = STATAR nmrqmﬁ e — it
c (A) 9.96 ®EI - (B) 10.23 =&
"{(C). 11.28 aﬂfﬁ o D) 11.50 HE

(ir)

Ur'::-am zatlon means ........ccccueeee.

(A) Centrahzutmu of population in the cities
(B)  Decentralization of population in the cities
(C) Centralization of population in villages

(D) Increase of density of population

P.T.O.
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(&1 Gresn coloared revolulion
(By Chznges In soricalturzl production
C) Changes in stzndzard of iving ol farmers

D) Inerezse in proportion of employment

- =

== T = == ==
- - -

J-'!lj "-"?"': % = ?" o

'\h (E; J.F_l. "": ‘,;"ﬂ; Fi - EJ;:1 ;'p-‘_':’-rll ﬁ

- . .
ICy /A== TZaiame Ziaal 224

D) == TEEE Teal 9%

()  Which of the following statements is correct 7
(4) Irrigated area in Maharashtra is partially decreasing
(B} Irrigated area in Maharashtra is decreasing

(Cy Irrigated area in Maharashtra is stable

(D) Irrigated area in Maharashtra is increasing.

A e fave aiEr o ?

(k)  TEITIAA wEfAee 43 A 92d FE
‘B)  wrrzAT wEfirEra 4% wza A

C)  wnradm wefiram 43 fem =g

~ ) mmvee watdwara @w A o

] - -
2 A—226 _



(1) Which of the following crops ig not cash crop 7

(A)  Jowar (B) Cotton
(C)  Sugarcance (D) PBanana
(A) = (B) HTgH
(C) =4 (D) wFH

(vt) Which of the following airport is not the International airport ?
(A) Pune (B) Aurangabad
(C)  Nagpur (D) Mumbai
ETelEtE wR farRe ¥ akdE fre Ta ?
TN B ER
(C) T D) T

(DIE)  eeeavesesnnnansnnes transport is fast though it is expensive.
(A) Road (B) Water
(C) Air (D) Railway
(A) T® () &

L) 7 (D) @

(viii) Nagpur agreement wos made in e
(A) 1948 (3) 1960
(C) 1956 (D) 1963
e arad] AR S
(A) 1948 (3) 1960

(C) 1966 (D) 1963
p.T.0



(1) f 82090 7

[§2,1) (APPSR RSN Commillee wan formed Lo evalunte the Repions) Imbalance

in Maharashtra.

(A) V. M. Dandekar (B) B D, Pande

(C) R. P. Kurulkar (D) Bharnd Pawar

RERITATE faTmila STaedierraan sirm gamapard) oo A T 2

3T

v (A)  HLum. SRt (B) A e

(C) oM. FHHETFRT (D) YrE TEn
(x) In Maharashtra first Railway Transport was started between ...

(A)  Mumbai—Pune

(B) Mumbai—Thane

(C)  Mumbai—Nagpur

(D) Mumbai—Goa : .

W -qf‘E-Eﬁ- iﬁr W ................. 2T -HTFI w'

(A)  Hag—qa -

(B  HE—em
(C) HE—ArTgL
@) e
' : Theory

Explain the size and growth of population in Maharashtra. 10

R : Or
- (frem
TR BReHTS TU-Em g,
X Aaf Or
(femem)
Explain the causes of regional-imbalance in Maharashtra.

TR R AuadarE s W F59.

GBO02189A11 ADOOECG59DFD4SEICE391

Discuss the_nﬂturg: and prubiems of Road transport in Maharashtra.

“ State the meritgand demerits of Green Revolution in Maharashtra. 10
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( 5 )

Write short notes on (any two) :

(1)
(i)
(iii)

(1v)

Trends in birth rate in Maharashtra

Communication

e

Cropping pattern in Maharashtra =

Water Transport

dresm fom fom (FwE )

(i)

(i1)
(2ii)
(iv)

! 3

wwt
p= - B x i P
{ v N ; L A
- L 5 b Pl L
O el A ik
W e ) i
o AL
x
o
¢ e
3
"'\.

A—326—2017
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FACULTY OF SOCIAL SCIENCES
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o MARCH/APRIL, 2018

[
:-.’,

(New Course)
-3 \i ECONOMICS
B¢ Paper VI

s (MCQ & Theory)

(Economics Development)

Time : 2.00 p.m. to 4.00 p.m.

()

Attempt All questions.
All questions carry equal marks.
e Wy St ame,
|E UVAA WHE O SR
MCQ

Solve the following MCQs :

e
(§)]

FEGTS WY Wi

-Maximum Marks—40

10

Concept of Division of Labour is given by :

(&) Karl Marx (b
(9  Robbins (d)
gm fasmmoft & dweq T Tl -

(a) I A (b)
(0 et (d)

Adam Smith

Lewis

e foy

wifaw
2T

AETAEBG6IEB1DBTDOS2E254FA4B6280B0




wT

7))

#77))

(7v)

(v)

2
( ) 5—349—2018

According to whose views National Income of a Country increases ;
s in

long period ? 4"
(a) Baldvin (b)  Benjamin g
(c) Richardson (d)  Occken
F TA 9 TFE IS RdEw aed Sgy 2
(a) =esfaq (b))  HsfiA
(¢ F=dms (d) A
The concept of Reserved Army of Labour is given by :
(&) Karl Marx () Adam Smith
(d) Ricardo

(c) Lewis

(& ~T=u oo

(a) I 5

(c) At (d) Tamret

The book “Das Capital” is written by :

(a)  Rostov (b) Karl Marx

(¢ Malthu.. (d) Lewis

“amm Btz w d4....... A fafeen, I
() 7214 (b) T R -
(¢  #74H () QfeH

Canon hag given........ stages of population in country.
() Two (i  Three

(o Four () NFive
wAr urr Fondte o G STHTE witiae.
() &1 (o A

() WTH

(c) i



W'

(v)

(vil)

(8% 7))

(ix)

( 4 ) 43492018

Which hoole wan writlen by Malthug in 1820 7

(r Waenlth of Naotions

() Dan Capitnl

(o) Principle of Political Keonomy

(i The Principle of Politien] Eeonomy and Taxation
\20 A ey we e fafee 7

(y el Ty

() mE wdEe

(0 1rim adorad e

() T s e A i

.............. i the main resource of capital formation.

() Saving ()  Quality of living
{¢¢  Consumptios (d) None of these
................ ¥ vizaa fffda ge anE .

(m) A (by  TEOEE

(6  F9m (d) T =T
Which one of the following ig not a renewahle resource ?
(a) Wind Energy (b) Solar Energy
(o Petrol (d) Forest
i W Us AT WA e

(@) AP (b) € 3=

(0 T (d) =

The formula of maladjustment (m-A—;’-

(a)
(e

— ) is given by :
Malthus () Plato

Dalton () Cannon

AETAEBRGIED 1 DETDOSZE254F A4B6280B0

P.T.O.



W (4 ) S—349—2018

R Lm-.figi] TG o A ¥ R .
@ IR b =R =
(@  ElES () ®AF
(x) ROV Becsiicvsivainass
&) Income — Consumption (»  Income + Consumption
(0 Income x Consumption (@ Income + Coansumption
(&) SO - IUMIM (B T o+ SO
Lo A x SUMP (d) TOH + SUHM
Theory
2. Critically examine 3. ‘o model of Economie Development. 10
frwreten onftfw fymmm wewRt e wism W,
(}r.
(fRpam)
What is Economie Growth ? State the main indicators of economic growth.
sl g woR w2 oie gRE wpe REaw Wi i
3.  State the Rostow's stages of economic growth, 10
AR arem anfefw famrarsn sen Wi
Or
(fews)

Explain the reasons of low rate of capital formation in nnderdeveloped country.

famrereiter Joms wimam Afifdsn gy sl o] SR s
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A—136—2019
FACULTY OF HUMANITIES
B.A. (Third Semester) (Regular) EXAMINATION
OCTOBER/NOVIEM BER, 2019
(CBCS Course)

ECONOMICS
Paper VI
(Economics of Development)
gaturday, 30-11-2019) Time : 2.00 p.m. to 4.00 p.m.
Time—2 Hours Maximum Marks—40

N.B. - — () Attempt All questions.
(@) All questions carry equal marks.
@ wE 9 Hrea.
@) W& W W T e,
1. What is Economic Growth ? Explain the indicators of Economic Growth. 15
T 5§ =S w2 AF TE9 ffvs o= 1.
ry : s
.-E;rplaiﬁ‘.t];e Tawidh thiory of malimifed supply of Labour.
Sferear sty e fagi = s
2. Explain the Malthus’s theory of Economic Development. 15
AredEE A faEEEn fogh T .
S o AT Or
| ; (feram)
Diééuﬁﬁ :bn;Héh.éwﬁlilﬁ and Non-renewable natural resources.

TAFT Wi s Sofle durer 9=t =
P.T.O.

JLToal FBOSI02BAYDAEBI6A Yo BYS

@
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(2 ) A—136—2019

Write short note on any one from Section-A and one from Section-B : 10

(&)

(@)

@)

(z0)

Section-A

Economic Development

Or
The role of saving in Economic Development.
Section-B
Capital Formation
Or

Stages of Economic Growth.

faam ‘31’ st faum ‘q WYE SOCE TEER Siesdl oW e

(@)

(it)

(L)

(&z)

faam-3
anids fo=E
s faewrem e -
faum-=
Wized i
far
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EXAMINATION WINTER 2020
Economics
Paper —-VI- NEW
Economics of Development
cluster code: HD Maximum Mark:40
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1) Wﬁmﬁmqram%_an%a.
a) Taffegmy
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